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RES) | e | RES gy | RES
102& 3108.7 1.8 2773.8 0.3 334.8 16.1
103& 3194.1 2.7 2811.0 1.3 383.2 14.4
104& 2844.3 -11.0 2 363.8 -15.9 480.5 25.4
105& 2791.7 -1.8 2292.0 -3.0 499.8 4.0
106 3154.9 13.0 2572.0 12.2 582.9 16.6
107& 3340.1 5.9 2847.9 10.7 492.2 -15.6
108& 3291.6 -1.5 2 856.5 0.3 435.1 -11.6
109 3451.3 4.9 28615 0.2 589.8 35.6
110& 4 463.7 29.3 3819.6 335 644.1 9.2
111& 4794.2 7.4 4 280.8 12.1 513.3 -20.3
112& 43242 9.8 3516.3 -17.9 807.9 57.4
9 388.1 3.4 285.1 -12.1 103.0 102.9
10 380.9 -4.6 323.2 -12.4 57.7 91.1
11°* 374.6 3.7 276.8 -14.8 97.8 170.3
12 399.2 11.7 287.7 6.7 111.5 128.1
113& 12 370.8 17.7 346.9 18.7 23.9 4.7
27 314.3 1.3 235.3 -17.8 79.0 228.8
37" 418.0 18.8 331.4 7.2 86.6 103.4
47 374.7 4.3 310.2 6.5 64.4 -5.4
5% 373.3 3.4 313.1 0.6 60.2 20.9
6" 398.9 23.4 351.9 33.9 47.0 -22.0
7 399.3 3.1 350.7 15.8 48.6 -42.5
8" r 436.3 16.8 321.4 11.7 114.9 34.0
91 p 405.7 4.5 334.5 17.3 71.2 -30.9
~E R 3491.2 10.1 2 895.4 10.1 595.8 10.2
~E
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